Chapter 10. Comparisons

Exercise. Fill in the blanks with the correct form of the
adjectives given in the brackets:

1.

10.

11.

12.

13.

14.

15.

The ostrich is the bird in the world but it cannot fly.
(large)
. Shimla is a hill station in North India. (popular)
. Which city has population, Mumbai or Delhi? (great)
. The peacock is because its feathers are

(proud, colourful).

. A peacock’s feathers are than the feathers of

any other bird. (colourful)

. The pink dress is the of all. Do you want to wear it?
(clean)
. A centipede has legs than any other insect. (many)
. Can you name the river in the world? (long)
. These oranges look to be . (good)
| could not find oranges than these. (good)
| think the rate is very . (high)
Who among your teachers is the ¢ (helpful)
Mr Ram Kumar is an man. (honest)
He is than the others. (hardworking)
He is also the of all. (polite)

218



	Page 18

